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Group C

The process of twisting fibers to make yarn is called

A) Combing ()  B) Spinning

C) Ginning () D) Knotting

Washing soda is the common name for

A) Sodium carbonate () B) Calcium bicarbonate
C) Sodium bicarbonate () D) Calcium carbonate

Petunia blooms during the
A) Summer Seasons () B) Winter season
C) Spring season () D) In all seasons

Who Collect food for Ant?

A) Queen Ant () B) Worker Ant
C) Ant () D) All of These
Child whose parents are dead called .

A) Teacher () B) Student

C) Orphan () D) Magician
The executive head of a state government is .

A) The Governor () B) Prime Minister
C) The Chief Minister () D) Lok Sabha
How many chambers does a cow’s stomach have ?

A) 4 () B) 10

C)7 () D) 30

What is the age of retirement of the judge of the supreme court ?
A) 62 years () B) 60 years
C) 68 years () D) 65 years
Konark sun temple is situated in .

A) Orissa () B) Bihar

C) Kerala () D) Delhi
Kilowatt is a unit to measure .

A) Work () B) Electricity
B) Power () D) Current
Which place is known as “The Land of cakes”?

A) Scotland () C) Canada

C) Chicago () D) Egypt
Another name for a tidal wave is a .

A) Tsunami () B) Volcano
C) Tornado () D) Sea Waves
The sum of all the angles of a triangle is equal to .

A) 180 () B) 60

C) 90 () D) 36

LCM of 24 and 16 is .

A) 24 () B) 8

C) 48 () D) 16

The value of 93/1000
A) 0.093 () C) 0.93
C) 9.3 () D) 0.0093
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Multiply 0.03 X 0.03

A) 0.009 () B) 0.0009
C) 0.09 () D) 0.09
The value of x + x(x*) when x = 2 is:

A) 10 () B) 16

C) 18 () D) 36
What fraction of an hour is 40 minutes?

A) 48/60 () B) 60/40
C) 40/40 () D) 40/60

John has stamps of different countries. 1/3rd of them are India stamps. if he has 36 Indian stamps,

how many stamps does he have in total.

A) 12 () B) 36

C) 48 () D) 108
The line segments forming a polygon are called its .

A) Vertices () B) Sides
C) Diagonals () D) Angles

While playing a game Anita lost Rs 80 in the first game, Rs 40 in the second game and Rs 25 in the
third game. Also, she gained Rs 50 in the fourth game and Rs 70 in the fifth game. Her net loss or gain

was .

A) Rs 45 () B) Rs 35

C)Rs 25 () D)Rs 20

N is multiplied by 8 and the result is subtracted from 15, this is represented as .
A) 15n -8 () B) 15-8n

C) 8n—-15 () D) 15+ 8n

The scientific study of earthquakes is known as

A) Seismology () B) Cosmology

C) Ecology () D) Pathology
Major Dhyan Chand is associated with which of the following sports ?
A) Athletics () B) Cricket

C) Boxing () D) Hockey

What kind of mosquito carries malaria ?

A)dog () B) anopheles mosquito
C) rebit () D) None of these
Who was the first person to set foot on Mount Everest ?

A) Neil Armstrong () B) Edmund

C) Hillary & Tenzing () D) Dennis Tito
Indian Army Day is celebrated on .

A) 15th January () B) 15th March
C) 15th February () D) 15th April
Female of Dog is called ?

A) Cow () B) Jenny

C) Bitch () D) Mare

Donald Duck and Mickey Mouse was created by ?
A) Walt Disney () B) Bob Kane
C) Arthur Conan Doyle () D) Rudyard Kipling

()
()



30.

31.

32.

33.

34.

35.

36.

37.

38.

39.

40.

41.

42.

43.

Largest snake in the world ?

A) Black Mamba () B) Rattle snake
C) King Cobra () D) Anaconda
In which of the following computer program we manage our data ?
A) MS-Word () B) Paint

C) MS-Excel () D) Notepad
Verification of login name and password in computer is called ?

A) Configuration () B) Authentication
C) Accessibility () D) Loggingin
Internet is used for .

A) E-mail () B) Surfing

C) Chatting () D) All of these
Mark Zuckerberg is the founder of :

A) Face book () C) Snap chat
B) Microsoft () D) Intel

Which part of the human skeleton protects the heart ?

A) Skull () B) Backbone
C) Ribs () D) limbs
Write the synonym of bendy

A) Flexible () B) Belly

C) Sandy () D) Candy

In which of the following computer program we can create pictures ?
A) MS-Word () B) Paint

C) MS-Excel () D) Notepad
Opposite of about is .

A) Exactly () B) Below

C) Exact () D) Excellent
Write the synonym of ‘Opponent’

A) Friend () B) Enemy
C) Relative () D) Family
The suffix in the word ‘biography’ means ?

A) Life () B) to write
C) Study () D) from afar
Identify the verb in the following sentence : That women is a millionaire.
A) that () B) woman
C) is () D) millionaire
Which of the following is correctly spelt ?

A) Committee () B) Comiti

C) Commiti () D) Comitti

What is the name of India's National Aquatic Animal ?
A) River Dolphin () B) Shark
C) Crocodile () D) Blue Whale
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The smallest odd composite No is ----------------

A) 5 () B) 15 ()
C)9 () D) 3 ()
The average of first six even numbers is?

A) 5 () B)7 ()
C)6 () D)8 ()
Who is the Chairman of the five-member Central Vista Oversight Committee?
A) Ratan P Watal ( ) B) Vivek Singh ()
C) Ajay Pandey () D) Subhash Chandra Garg ( )

What is the theme of ‘World Aids Day’ 20217

A) End inequalities. End Aids. End pandemics ( ) B) Leaving No one behind

C) Stigma surrounding AIDS ( ) D) AIDS during COVID Times
Which bird lays its eggs in the nest of a crow ?.

A) Pigeon () B) Cuckoo ()
C) Parrot () D) Eagle ()
How many countries are in North America?

A) 22 () B) 23 ()
C) 24 () D20 ()
Which figure has no line of symmetry ?

A) A Circle () B) A Scalene Triangle ()
C) An Isosceles () D) An Equilateral Triangle ()
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